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3.2x(x - 2) 14& 2. See next page.
4. 4mn(m - 2n + 3mn)

5. (x+1)(x-1)

6. (5x - 6y)(5x + 6y)

7. (x = 3)(x + 4)(x - 4)

8.5x3(x* + 3)

9. (11x + By)(11x - By)

10. (16x2 + 1)(4x + 1)(4x - 1)

1L (x + 4)(x + 3)(x - 3)

12. 6rs(Bs - 4r + 1)

B.yly* + Dy* - 1)

14.9(3x + y)(3x - y)

15. -11x* + x? + 8x +4

16. -3x%y* - 6x%y? + 12x%y® - 9x%y?
17. 10a? - 33ab + 27b?

18. -7x* + 26x? - 10x - 15
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1, Algebraically prove why o®-b? = (atb){a-b) by simplifying the right side.
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2. Using a=5 and b=2, shnwrhmn b? = (a+b)(a-b) is true.
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1-5: Factoring Long and Short Product/Sum

Factoring Trinomials using Product/Sum (with leading coefficient # 1):
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Factoring Trinomials (with leading coefficient=1):

Example: Factorthe followingtrinomialsusing Pmduct/S
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1. x2+6x+8 . 2. x2-13x+40
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Example: Factorthe following trinomials using Product/Sum long form. )<\/ = 30
P30 V- >0
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5. x2+7x+6 6. x2+5x+6

7. x2+5x-6 8. x2-6x+5
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Factor Completely: 2y*+6y> +4y

DGCF of 2y ‘2 3
2 LE a, L
S 8y )

-2y (y+)(y+ 1)

‘What is different about this one? Try factoringit.
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X*+6x+8 and 2x2+13x+6
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Describe what is different about factoring the following trinomials, and then factor them.
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